For the following syllogisms, identify the major (predicate) term, the minor (subject) term, and the middle term:
	1. All basketball players are very tall.
    All Celtics are basketball players.
    Therefore, all Celtics are very tall.

	2. All Dallas Cowboys are football players.
    Some Texans are Dallas Cowboys.
    Therefore, some Texans are football players.

	3. No fish are creatures with feathers.
    Some aquatic creatures are fish.
    Therefore, some aquatic creatures are not creatures with feathers.
	4. All humans are made in God’s image.
    Some mammals are humans.
Therefore, some mammals are made in God’s image.





For the following syllogisms (A) indicate whether the argument is valid, and (B) indicate whether the argument is sound.
	5. All men are astronauts.
    Socrates is a man.
    Therefore, Socrates is an astronaut.

	6. Some mammals have wings.
    All bats are mammals.
    Therefore, all bats have wings.

	7. The Creator of the universe is God.
    Jesus is the Creator of the universe.
    Therefore, Jesus is God.

	8.  All R are C.
     No D are C.
     Therefore, no D are R.




For the following enthymemes, supply the missing premise or conclusion necessary to make the argument valid.  (The argument does not need to be sound).
	9.  All scientists believe in evolution.
     Dr. Dawkins is a scientist.


	10. No moths have bulbs on their antennae.
       So, this insect is not a moth.

	11.  Rhode Island has a misleading name.
        Therefore, it does not exist.


	12. God is mean.
       Therefore, God does not exist.



	

